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(> = 3)(dx—6) +2¢ +6x— 5

3x—(1+2x)(x+ 5)Bx+6)

(2 + 2+ 5)(2x — 1) — 6 x 5x + 3

= 12x—1)—3%¢ +5x+4

(2x+ 5)(3x — 6)(6x — 6)

(4x* — 3)(x +2) — 65 +4x — 2

(5x* + D)(3x+5) — 6% +2x — 4

(2% +x—1)(6x—2)+ 1 x5x+ 1

(6x — 1)(5x + 6)(2x + 3)

(x— D —3x— 1)~ (x +5)(5x + 2)
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(= 3)(@x—6) + 2% +6x—5
40 — 4 — 6x+ 13

3x—(1+2x)(x+ 5)Bx+6)
—6x° — 45x% — 78x — 30

(2% + 2x+5)(2x— 1) — 6 x 5x+ 3

4+ 22 —202x—2

F— 2x— 1) -3 +5x+4
270 — 42 +3x+5

(2x + 5)(3x — 6)(6x — 6)
36x° — 18%° — 198x + 180

H #A:

(4" = 3)(x+2) — 6% +4x -2

4¢3 + 2% +x- 8

(5% + 1)(3x + 5) — 672 +2x — 4
15x° + 19x% + 5x + 1

2 +x—1)(6x—2)+ 1 x5x+ 1

1202 + 202 — 3x + 3

(6x — 1)(5x + 6)(2x + 3)

60x° + 1522

+ 8lx— 18

(x— 402 —3x— )= (x +5)(5x + 2)
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